All-India Institute of Medical Sciences Ansari Nagar, New Delhi-29

(RESEARCH SECTION)

Ref. No. 12/Prop/IRCH/RG/2020-21/RS

Dated: 17.11.2020

Subject: Purchase of Reagents and Consumables for the Deptt. of Lab. Oncology, IRCH,

AIIMS, New Delhi-29 on proprietary basis- Inviting comments thereon.

\*\*\*\*

The request has been received from Dr. Ritu Gupta, Deptt. of Lab. Oncology, IRCH,

AIIMS to purchase the subject item from M/s Genex India Bioscience Pvt. Ltd. (Mfg. by M/s

Miltenyi Biotec Asia Pacific Pte. Ltd., Singapore) on proprietary basis. The proposal submitted

by M/s Genex India Bioscience Pvt. Ltd. (Mfg. by M/s Miltenyi Biotec Asia Pacific Pte. Ltd.,

Singapore) and Performa Invoice and Departmental PAC certifications are attached.

The above documents are being uploaded for open information to submit objections,

comments, if any, from any manufacturer regarding proprietary nature of the equipment/item

within issue of 15 days giving reference No. 12/Prop/IRCH/RG/2020-21/RS. The comments

should be received by office of Stores Officer (RS), Research Section at AIIMS on or before

02/12/2020 upto 12:00 p.m., failing which it will be presumed that any other vendor is having

no comment to offer and case will be decided on merits.

**STORES OFFICER (RS)** 

**Encl: Related documents enclosed.** 

1. PAC Certificate enclosed.

2. Performa Invoice



27th October 2020

Dr. Ritu Gupta IRCH Department - Laboratory Oncology All India Institute of Medical Sciences, New Delhi-110029

Dear Sir,

## Sub: SOLE PROPRIETARY CERTIFICATE

We, hereby confirm you that the below mentioned products are proprietary item of M/s. Miltenyi Biotec Asia Pacific Pte Ltd., Singapore.

130-113-309 - CD56 Antibody, anti-human, Vio® Bright FITC

Size: 100 tests in 200 µL

130-117-376 - CD194 (CCR4) Antibody, anti-human, APC, REAfinity™

Size: 100 tests in 200  $\mu$ L

130-124-233 - CD206 Antibody, anti-human, PE

Size: 100 tests in 200 µL

130-119-622 - CD294 (CRTH2) Antibody, anti-human, APC, REAfinity™

Size: 100 tests in 200 µL

130-119-785 - CD366 (TIM-3) Antibody, anti-human, PE, REAfinity™

Size: 100 tests in 200 µL

130-119-878 - IgG Antibody, anti-human, PE

Size: 100 tests in 200 µL

130-105-524 - Siglec-8 Antibody, anti-human, PE-Vio® 770

Size: 100 tests in 1 mL

These products are solely manufactured by us.

For Miltenyi Biotec Asia Pacific Pte Ltd.

SG SHALLER HANDS AND THE WORLD TO SHALLER HANDS AND THE WORLD TO SHALLER HANDS AND THE WORLD THE

for best

and Completion Trace Code According to the C



## GeneX India Bioscience Pvt. Ltd.

No. 5A/3, Sai Abimanasa, Murphy Doss Road, Dr. Seethapathy Nagar, Velachery,

Chennai - 600 042 INDIA

Phone: +91.44 2243 2622 / 2243 2623

Fax : +91 44 2243 2621 E-mail: info@genexindia.net Web : www.genexindia.net

QU		

	Dr Ritu Gupta IRCH Department - Laboratory Oncology All India India Institute of Medical Sciences, New Delhi-110029		Quote No : GX/AIIMSD/MLB/012/20-21 Date : 27 - Oct - 2020 Your Ref : E-mail Date : 27 - Oct - 2020		
No	Description	Qty.	Unit Price	Total Price	Spl Discounted Price
	M/s. Miltenyi Biotec		SGD	SGD	Frice
1	130-113-309 - CD56 Antibody, anti-human, Vio® Bright FITC Size: 100 tests in 200 µL	4	500.50	2,002.00	1,701.70
2	130-117-376 - CD194 (CCR4) Antibody, anti-human, APC, REAfinity™ Size 100 tests in 200 µL	4	455.40	1,821.60	1,548.36
3	130-124-233 - CD206 Antibody, anti-human, PE Size: 100 tests in 200 µL	6	416.00	2,496.00	2,121.60
4	130-119-622 - CD294 (CRTH2) Antibody, anti-human, APC, REAfinity™ Size: 100 tests in 200 μL	6	455.40	2,732.40	2,322.54
5	130-119-785 - CD366 (TIM-3) Antibody, anti-human, PE, REAfinity™ Size: 100 tests in 200 µL	4	455.40	1,821.60	1,548.36
6	130-119-878 - IgG Antibody, anti-human, PE Size: 100 tests in 200 μL	4	487.30	1,949.20	1,656.82
	130-105-524 - Siglec-8 Antibody, anti-human, PE-Vio® 770 Size: 100 tests in 1 mL	4	500.50	2,002.00	1,701.70
	Ex-Works				
	Add Freight Charges Total CIF New Delhi				12,601.08 .FOC
				GeneX India Bios	12,601.08

TERMS & CONDITIONS

: Prices are Ex-works. Freight Charges are as mentioned above. 2 Validity : 30 Days from the date of Quote.

3 Payment : 100% Advance Payment

By SGD Demand draft in favor of our principals or by means of Wire Transfer.
ACCOUNT NUMBER: 041-356031-001
The Honkong & Shanghai Banking Corporation (HSBC) 21,
Collyer Quay, #08-01, HSBC Building, Singapore-049320
SWIFT BIC: HSBCSGSG

4 Order should be placed in favour of :
Miltenyi Biotec Asia Pacific Pte Ltd
438B Alexandra Road, Block B, Alexandra Technopark #06-01
Singapore 119968

Tel: +65 62388183 Fax: +65 6238 0302

5 Country of Origin: Germany

1 Prices

: 3 - 4 weeks from the date of receipt of order



GSTIN: 33AADCG5291K1ZG - PAN: AADCG5291K

Bank Details: AXIS BANK LTD - A/c No.: 234010300000879 - IFSC: UTIB0001165

## PROPRIETORY/SPECIFIC BRAND GOODS CERTIFICATE

1.Item/Type/Model No. required along with Specifications

Flowcytometer reagent and consumable

2.1s the item a spare part attachment or accessory for an existing equipment

No, reagents

3. Name of the manufacturers/supplier of the item proposed by the indenter Manufacturer: Miltenyi Asia Pacific Pte Ltd. Supplier: M/S GeneX India Bioscience Pvt. Ltd.

4. Are they sole manufacturers/sole distributors of the item

Proprietary item

5.1s there any other item with similar/ equivalent specification available in the market to meet the job requirement envisaged? If the answer is yes, why the same can't be procured. Demanding Officer should bring out comparative functional advantages/cost effectiveness of the recommended item from these

No, the above items are of proprietary nature

6. What were the efforts made to locate alternative source of supply or use (Authorization enclosed) other substitutes

offered by other

M/S Miltenyi Asia Pacific Pte Ltd, India is authorized distributor of M/S GeneX India Bioscience Pvt. Ltd. (Authorization enclosed)

7. Why open/limited tender can't be restored to, for locating alternative source

Proprietary items

8. Are the proprietary items certifying that the rates are reasonable or not

Yes, Certificate enclosed

9. Any other justification for procuring

None

item from single source

I certify that the item at SNo. I above is required to be procured on single tender basis as the source of supply is definitely known/the specified brand proposed was advantageous in meeting our requirements and limited tender system could be dispensed with as they would serve no useful purpose this particular case

Signature of Indenter (Demanding Officer)

COUNTERSIGNED 6/11/2020 (Head of the Department)